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1.5 The Chain Rule
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Office hour notes

1.4:
For Exercises 1-14, use the rules from this section to find the derivative of the given function.
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1.5:5
For Exercises 1-18, find the derivative of the given function.
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Calculate the derivative of a function graphically
on the TI-84 at a given point.
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19. In a certain type of electronic circuit®” the overall gain A, is given by
A,
Ay, = ——
Y1-T

where the loop gain T is a function of the open-loop gain A,.

(a) Show that
dA, 1 A, d1-T)

dA, 1-T (1-T¢ dA,

(b) In the case where T is directly proportional to A,, use part (a) to show that

dA, 1
dd, (1 -T2

(Hint: First show that A, - %_OD =-T)
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For Exercises 1-18, find the derivative of the given function.
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1.2:5
Note: For all exercises, you can use anything discussed so far (including previous exercises).

For Exercises 1-11, find the derivative of the given function f(x) for all x (unless indicated otherwise).
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10. f(x)=vax2+1
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1.2

This graph illustrates the fact that the derivative of
an odd function is even.

We will study this later.

For Exercises 1-9, let dx be an infinitesimal and prove the given formula.
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1.5:5
For Exercises 1-18, find the derivative of the given function.
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19. In a certain type of electronic circuit®’ the overall gain A, is given by
A,
1-T _r
where the loop gain T is a function of the open-loop gain A,. -—r{‘ ( A 0)
(a) Show that
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(b) In the case where T is directly proportional to A,, use part (a) to show that
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